
TITLE

CHKDDATEDFTM

TM

SHEET

OF

DRAWING

NUMBER

140/240 HYDRAULIC BASE

STAND ASSEMBLY W/ LL

1 1 

CD-000018 A

10/29/2019
TH

BK

20 7/16

[520]

27 3/4

[705]

30 3/8

[772]

46 1/2 [1181]

34 1/2 [876] 3 FT.

 4 FT.

58 1/2 [1486] 5 FT.

70 1/2 [1791] 6 FT.

28 1/4

[718]

TO

39 1/4

[997]

5 15/16

[151]

± 3/4 LEG

LEVELER

ADJUSTMENT

5/16-18 X 3/4 BOLT (16)

5/16 SST LOCK / SPLIT WASHER (16)

5/16 SST FLAT WASHER (16)

(X-980443)

LEG LEVELER (4)

(B-200-1100)

LEVELER SUPPORT (4)

1/4-20 X 3/4 BOLT (8)

1/4 INTERNAL TOOTH LOCK WASHER (8)

1/4 SST FLAT WASHER (8)

(B-500-393)

MOUNTING BRACKET (4)

NU-200-147

NU-200-148

NU-200-151

NU-200-152

NU-200-155

NU-200-156

NU-200-159

NU-200-160

REV CO DESCRIPTION DATE DFTM CHKD

A 000132 RELEASED TO PRODUCTION 10/29/2019 TH BK


